Chapter 11 Case : Evaluating McGraw Industries’ Capital Structure

McGraw Industries, an established producer of printing equipment, expects its sales to remain flat for the next 3 to 5 years because of both a weak economic outlook and an expectation of little new printing technology development over that period. On the basis of this scenario, the firm’s management has been instructed by its board to institute programs that will allow it to operate more efficiently, earn higher profits, and, most important, maximize share value.

In this regard, the firm’s chief financial officer (CFO), Ron Lewis, has been charged with evaluating the firm’s capital structure. Lewis believes that the current capital structure, which contains 10% debt and 90% equity, may lack adequate financial leverage. To evaluate the firm’s capital structure, Lewis has gathered the data summarized in the following table on the current capital structure (10% debt ratio) and two alternative capital structures—A (30% debt ratio) and B (50% debt ratio)—that he would like to consider.

	Capital structurea

	Source of capital
	Current (10% debt)
	A (30% debt)
	B (50% debt)

	Long-term debt
	$1,000,000
	$3,000,000
	$5,000,000

	 
	Coupon interest rateb
	9%
	10%
	12%

	Common stock
	100,000 shares
	70,000 shares
	40,000 shares

	 
	Required return on equity, ksc
	12%
	13%
	18%


aThese structures are based on maintaining the firm’s current level of $10,000,000 of total financing.

bInterest rate applicable to all debt.

cMarket-based return for the given level of risk.

Lewis expects the firm’s earnings before interest and taxes (EBIT) to remain at its current level of $1,200,000. The firm has a 40% tax rate.

To Do

A.  Use the current level of EBIT to calculate the times interest earned ratio for each capital structure. Evaluate the current and two alternative capital structures using the times interest earned and debt ratios. 

B.  Prepare a single EBIT–EPS graph showing the current and two alternative capital structures. 

C.  On the basis of the graph in part b, which capital structure will maximize McGraw’s earnings per share (EPS) at its expected level of EBIT of $1,200,000? Why might this not be the best capital structure?

D.  Using the zero-growth valuation model given in Equation 11.12, find the market value of McGraw’s equity under each of the three capital structures at the $1,200,000 level of expected EBIT.
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E.  On the basis of your findings in parts c and d, which capital structure would you recommend? Why?

F.  Find the Weighted Average Cost of Capital (WACC)

Here is what I have completed so far. 
Chapter 11: Case Study of McGraw Industries

A.





Current

A


B

    

EBIT



1,200,000

1,200,000

1,200,000

Interest (rate x debt)

     90,000

   300,000

    600,000


Net profits before taxes
1,110,000

   900,000

    600,000

Taxes (T = 0.40)

    444,000

    360,000
 
    240,000

Net profit after taxes

    666,000

    540,000

    360,000

EPS

             666,000/100,000 =
          540,000/70,000 =
360,000/40,000 =





6.66


7.71



9.00

Times Interest Earned Ratio:

Current



A




B



1,200,000/90,000 = 13.30
      1,200,000/300,000 = 4.00

1,200,000/600,000 = 2.00

B.


EBIT – EPS Graph


[image: image3.emf]Series 1

Series 2

Series 3

-800000-600000-400000-200000 2000004000006000008000001000000120000014000001600000180000020000002200000240000026000002800000

-6

-4

-2

2

4

6

8

10

12

14

x

y


C. 


On the basis of the graph in part b, the capital structure that will maximize McGraw’s earnings per share at its expected level of EBIT of $1,200,000 is plan B.  Plan B will maximize earnings per share (EPS) to $9.00 compared to the company’s current EPS of $6.66.  However, even though earnings per share will be maximized with this capital structure, it may not be the best option.  With the increased debt, the company will be considered a financial risk with a low times interest earned ratio of 2.00.  A low times interest earned ratio indicates that the company may be unable to make payments on contractual interest that becomes due and this is a great risk factor.

D. 
Current Capital Structure:   [image: image5.png]


 so, $6.12 / .12 = 55.5 or $55.50

Alternative A at 30%: [image: image7.png]


 so, $7.71 / .13 = 59.31 or $59.31

Alternative B at 50%:   [image: image9.png]


 so, $9.00 / .18 = 50.00 or $50.00
E. 


After evaluating which structure can maximize EPS and keep EPS high during zero growth valuation, I believe alternative A is the best. The reason alternative A is better then both the current structure and alternative B is it raise EPS and still keeps debt at a low percentage. This allows the company to have more financial leverage, not be a risk for falling behind at a time interest ratio of 4.00, and give a decent return to shareholders. The current option is too much equity financing with a smaller EPS and alternative B does raise EPS, but would also cause credit ratings to drop due to a time interest ratio of 2.00. 

F.  ???

I have completed all of the following except for F. After gathering the information I am lost on what data to use to find the WACC, here is what I have completed so far, and I need to know how to set up the problem, 
I think I am supposed to use this formula, but it doesn’t look correct to me.  E=(E/(D+E)) Ke + (D/(D+E))Kd(1-T) 
If you could set up the Current formula, Alternative A and Alternative B with the proper numbers to use, I can calculate out the rest. Thank you. 

10 % Debt


30 % Debt


50 % Debt
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